

ΣΚΡΗΚΕ ΣΕ ΣΗΜΑΝΩΜΕΝΟ

15/5/14603/009

Civil

1) I.P. $y = e^{x^2+x}$

Show that $y'' = y'(2x+1) + 2y$

$$y = e^{x^2+x}$$

$$\frac{dy}{dx} = y'$$

$$y' = (2x+1)e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = y''$$

Since $y' = (2x+1)e^{x^2+x}$

$$\frac{d^2y}{dx^2} = y'' = V \frac{du}{dx} + u \frac{dV}{dx}$$

$$= 2(e^{x^2+x}) + (2x+1)(2x+1)e^{x^2+x}$$

Since $y = e^{x^2+x}$

$$y' = (2x+1)e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = y'' = V \frac{du}{dx}$$

$$= y'' = 2(y) + (2x+1)(y')$$

$$y'' = y'(2x+1) + 2y$$

6) Hence prove that

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^{(n)}$$

$$y'' = y'(2x+1) + 2y$$

$$y'' = y'(2x+1) - 2y = 0$$

using Leibnitz theorem

Let $w = y''$

$$u = y''$$

$$u^n = y^{n+2}$$

$$w^n = y^{n+2}$$

Let $w = y'(2x+1)$

$$u = y'$$

$$u^n = y^{n+1}$$

$$V = -(2x+1)$$

$$V' = -2$$

$$V'' = 0$$

$$w'' = u^n v'' + u n u^{n-1} v' + \frac{n(n-1)}{1 \cdot 2} u^{n-2} v''$$

$$= u^n v'' + n u^{n-1} v'$$

$$= -y^{n+1} (2x+1) - 2ny^n$$

$$w'' = -y^{n+1} (2x+1) - 2ny^n$$

$$\text{let } w = -2y$$

$$u = y \quad v = -2$$

$$u^n = y^n \quad v = 0$$

$$w'' = u^n v'' + n u^{n-1} v'$$

$$w'' = -2y^n$$

$$\therefore y^{n+2} = (2x+1)y^{n+1} - 2ny^n - 2y^n = 0$$

$$y^{n+2} = (2x+1)y^{n+1} + 2ny^n + 2y^n$$

$$y^{n+2} = (2x+1)y^{(n+1)} + (2n+2)y^n$$

$$y^{n+2} = (2x+1)y^{(n+1)} + 2(n+1)y^n$$

2) Using the Leibniz theorem give that

$$y = x^3 e^{4x}$$

determine y^5

$$v = x^3$$

$$v' = 3x^2$$

$$v^{(2)} = 6x$$

$$v^{(3)} = 6$$

$$v^{(4)} = 0$$

$$v^{(5)} = 0$$

$$u = e^{4x}$$

$$u' = 4e^{4x}$$

$$u^{(2)} = 16e^{4x}$$

$$u^{(3)} = 64e^{4x}$$

$$u^{(4)} = 256e^{4x}$$

$$u^{(5)} = 1024e^{4x}$$

$$y^5 = u^{(5)} v^{(0)} + n u^{(4)} v^{(1)} + \frac{n(n-1)}{2!} u^{(3)} v^{(2)} + \frac{n(n-1)(n-2)}{3!} u^{(2)} v^{(3)} + \frac{n(n-1)(n-2)(n-3)}{4!} u^{(1)} v^{(4)} + \frac{n(n-1)(n-2)(n-3)(n-4)}{5!} u^{(0)} v^{(5)}$$

$$y^5 = [1024 e^{4x} (x^3)] + [5(256 e^{4x}) 3x^2] + [5 \times 2(64 e^{4x}) 6x] +$$

$$[2048 \times 16 e^{4x} \times 6] + [0] + [0]$$

$$y'' = 1024e^{-x}x^1 + 1280e^{-x}(2x) + 640e^{-x}(6x) + 160e^{-x}(6)$$

$$y'' = 1024e^{-x}x^1 + 2560e^{-x}x^1 + 3840e^{-x}x + 960e^{-x}$$

$$y'' = e^{-x}(1024x^1 + 3840x^1 + 3840x + 960)$$

$$1) x^2 \frac{d^2y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + x y' + y = 0$$

$$\text{Let } w = x^2 y''$$

$$u = y'$$

$$v = x^1$$

$$u' = y''$$

$$v' = 2x$$

$$v'' = 2$$

$$v''' = 0$$

$$w'' = u'' v^0 + n u'' v^1 + \frac{n(n-1)}{2!} u'' v^2 + \frac{n(n-1)(n-2)}{3!} u'' v^3 + \dots$$

$$= y^{n+2} x^2 + n y^{n+1} (2x) + \frac{n(n-1)}{2} y^n (2) = 0$$

$$w'' = y^{n+2} x^2 + 2x n y^{n+1} + n(n-1) y^n$$

$$\text{Let } w = x y'$$

$$u = y'$$

$$u' = y''$$

$$v = x$$

$$v' = 1$$

$$v'' = 0$$

$$w'' = u'' v + n u'' v^2 + \frac{n(n-1)}{2!} u'' v^3 + \dots$$

$$= y^{n+1} x + n y^n (1) + 0$$

$$w'' = y^{n+1} x + n y^n$$

v(2)

$$\text{Let } w = y$$

$$w'' = y''$$

$$0 = y^{n+1} x^2 + n y^{n+1} 2x + (n(n-1)) y^n + n y^n + y^n$$

$$0 = x^2 (y^{n+1}) + 2x n (y^{n+1}) + (n^2 - n) y^n + x (y^{n+1}) + n y^n + y^n$$

$$0 = (n^2 - n + 1) y^n + (2x n + x) y^{n+1} + x^2 (y^{n+1})$$

$$0 = x^2 y^{n+1} + (2x n + x) y^{n+1} + (n^2 + 1) y^n$$

$$x^2 y^{n+1} + (2n + 1) x y^{n+1} + (n^2 + 1) y^n = 0$$